
3


['abc', 'xyz']


true


In [1]: def indexOfSmallestElement(L):

    s=L[0]

    k=0

    for i in range(len(L)): 

        if L[i]<s:

            s=L[i]

            k=i

    return(k)



a = [2,3,4,1,5,6]

print(indexOfSmallestElement(a))


In [4]: def mostCommonName(L):

    lst=[]    

    for i in range(len(L)): 

        lst.append(L.count(L[i]))

        

    m=max(lst)

    rst=[]

    for i in range(len(lst)): 

        if m==lst[i]:

            flg=0

            for x in range(len(rst)):

                if L[i]==rst[x]:

                    flg=1

            if flg==0:

                rst.append(L[i])

            

    return(rst)



test=['abc', 'xyz', 'abc', '123', 'xyz']

print(mostCommonName(test))


In [5]: def isPalindromicList(a):

    s=a

    a.reverse()

    k=0

    for i in range(len(a)): 

        if s[i]!=a[i]:

            k=1

            

    if k==0:

        return('true')

    else:

        return('false')

   



b = [2,3,1,1,3,2]

print(isPalindromicList(b))


In [ ]:  



